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linearoperat.ir#: Part 1

Definition : A linear operator is a mapping
A between

to vector spaces V1 , 1W that satisfies
two properties :
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All matrices are
,

in *act , linear operatorsI
(more on this soon f)
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• Remember that vectors are abstract entities .

When we write Ñ =

(1)
weareiindicating the

coordinates of T in the basis { ( ! ) , ( ;)} , i.e.
T = 1. ( ! ) + 2
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# "

canonical basis "

If we change our basis , we get a different representation
for F.
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The same holds for linear operators§
They are represented by matrons once we fix the basis
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Ax> = 2x → (! )
Makes sense I
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• To solve problems A- I =P
, for a given A , it is

useful to understand
. . .

•

Does A
"
exist?

• Is b- in the set of possible results ?
[ what does this look like? Ima
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• Note : All linear ops map a- →
-

AE = A 1×-1-0-1 = AI + AE → AE =

otherA is the set of all I ( including 5=0 ) , such
that AI = o .
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